

**CERTAIN SUBCLASSES OF UNIFORMLY STARLIKE, CONVEX  
AND SPIRALIKE FUNCTION DEFINED BY SALAGEAN  
DERIVATIVE OPERATOR**

J. O. HAMZAT

ABSTRACT. In this paper, the author studies certain new subclasses of uniformly starlike, convex and spirallike functions with negative coefficients. Some properties of functions belonging to these subclasses such as, coefficient estimates, extreme points, growth and distortion bounds are critically investigated.

1. INTRODUCTION

Let  $S$  denote the class of all functions having the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1}$$

which are analytic and univalent in the unit disk  $E = \{z : |z| < 1\}$  and by  $ST$  and  $CV$  the subclasses of  $S$  that are starlike and convex respectively. A function  $f(z)$  of the form (1) is said to be uniformly convex ( $UCV$ ) or uniformly starlike ( $UST$ ) in  $E$  if  $f(z)$  is in  $CV$  or  $ST$  and has the property that for every circular arc  $\epsilon$  contained in  $E$ , with centre  $\psi$ , the arc  $f(\epsilon)$  is convex or starlike with respect to  $f(\psi)$ . It is well known that

$$f \in UCV \Leftrightarrow \left| \frac{zf''(z)}{f'(z)} \right| \leq \operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\},$$

$$f \in S_p \Leftrightarrow \left| \frac{zf'(z)}{f(z)} - 1 \right| \leq \operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\}$$

and

$$f \in S_p(\alpha) \Leftrightarrow \left| \frac{zf'(z)}{f(z)} - 1 \right| \leq \operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} - \alpha \right\}$$

---

2010 *Mathematics Subject Classification.* 30C45.

*Key words and phrases.* Analytic, univalent, uniformly starlike, uniformly convex, uniformly spirallike.

Submitted Dec. 4, 2018. Revised 14 Jan. 2019.

see ([3], [9], [11]). Now, suppose that we pose an index  $\alpha$  ( $\alpha$  is real) on (1) such that

$$f(z)^\alpha = \left( z + \sum_{k=j+1}^{\infty} a_k z^k \right)^\alpha .$$

Then, we can re-write the fractional analytic function  $f(z)^\alpha$  as

$$f(z)^\alpha = z^\alpha + \sum_{k=j+1}^{\infty} a_k(\alpha) z^{\alpha+k-1} . \quad (2)$$

Interested reader may refer to ([4]), ([8]), ([7]) and ([15]) for more study on the kind of fractional analytic function  $f(z)^\alpha$  defined in (2). Using Salagean derivative operator ([12]) on (2) we can write for function  $f(z)^\alpha$  of the form (2) that

$$D^m f(z)^\alpha = \alpha^m z^\alpha + \sum_{k=j+1}^{\infty} (a+k-1)^m a_k(\alpha) z^{\alpha+k-1} \quad (3)$$

$$\alpha > 0, \quad m \in N_0 \quad \text{and} \quad z \in E .$$

Motivated by the work of ([9]) we give the following definition.

**Definition 1:** Let  $f(z)^\alpha \in S(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . Then,

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{e^{i\theta} z (D^m f(z)^\alpha)' + (2\lambda^2 - \lambda) z^2 (D^m f(z)^\alpha)''}{4(\lambda - \lambda^2) z^\alpha + (2\lambda^2 - \lambda) z (D^m f(z)^\alpha)' + (2\lambda^2 - 3\lambda + 1) D^m f(z)^\alpha} - \gamma \right\} \\ & > \left| \frac{e^{i\theta} z (D^m f(z)^\alpha)' + (2\lambda^2 - \lambda) z^2 (D^m f(z)^\alpha)''}{4(\lambda - \lambda^2) z^\alpha + (2\lambda^2 - \lambda) z (D^m f(z)^\alpha)' + (2\lambda^2 - 3\lambda + 1) D^m f(z)^\alpha} - 1 \right| \quad (4) \end{aligned}$$

$$\alpha > 0, \quad m \in N_0, \quad 0 \leq \lambda < 1, \quad \beta \geq 0, \quad -1 \leq \gamma < 1, \quad |\theta| < \pi/2 \quad \text{and} \quad z \in E .$$

We also, let  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j) = S(\lambda, \gamma, \beta, \alpha, \theta, m, j) \cap T$  where  $T$  is the subclass of  $S$  consisting of functions of the form:

$$f(z)^\alpha = z^\alpha - \sum_{k=j+1}^{\infty} a_k(\alpha) z^{\alpha+k+1} \quad (5)$$

For various choices of the parameters involved, we obtained the following subclasses investigated by different authors.

1.  $TS(\lambda, \gamma, \beta, 1, 0, 0, j) = TS(\lambda, \gamma, \beta, j)$  see ([9]).
2.  $TS(0, \gamma, 0, 1, 0, 0, 1) = T^*(\gamma)$  and  $TS(1, \gamma, 0, 1, 0, 0, 1) = K(\gamma)$  ([14]).
3.  $TS(0, \gamma, 0, 1, 0, 0, j) = T^*(\gamma, j)$  and  $TS(1, \gamma, 0, 1, 0, 0, j) = K(\gamma, j)$  ([16]).
4.  $TS(0, \gamma, \beta, 1, 0, 0, 1) = TS(\gamma, \beta)$  and  $TS(1, \gamma, \beta, 1, 0, 0, 1) = UCV(\gamma, \beta)$  ([2]).
5.  $TS(0, 0, \beta, 1, 0, 0, 1) = TS_p(\beta)$  ([18]).
6.  $TS(1, 0, \beta, 1, 0, 0, j) = UCV(\beta)$  ([19]).
7.  $TS(\lambda, \gamma, 0, 1, 0, 0, j) = B(\lambda, \gamma, j)$  ([5], [6]).
8.  $TS(1/2, \gamma, 0, 1, 0, 0, 1) = P(\gamma)$  ([1]) and ([13]).
9.  $TS(1/2, \gamma, \beta, 1, 0, 0, 1) = TR(\gamma, \beta)$  ([17]).

Next we obtain a necessary and sufficient condition for functions  $f(z)^\alpha \in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ .

2. COEFFICIENT ESTIMATES

**Theorem 2.1:** Let  $f(z)^\alpha$  be a function of the form (2). If  $f(z)^\alpha \in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ , then

$$\frac{\sum_{k=j+1}^\infty (a+k-1)^m [(1+\beta)M_k - (\beta-\gamma)F_k] |a_k(\alpha)|}{(2+\beta-\gamma)[4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]} \leq 1 \tag{6}$$

where  $\alpha > 0, m \in N \cup \{0\}, 0 \leq \gamma < 1, 1/2 \leq \lambda \leq 1, \beta \geq 0, |\theta| < 1/2$  and

$$\left. \begin{aligned} M_k &= (\alpha+k-1) [e^{i\theta} + (2\lambda^2-\lambda)(\alpha+k-2)] \\ F_k &= (2\lambda^2-\lambda)(\alpha+k-1) + (2\lambda^2-3\lambda+1) \end{aligned} \right\} \tag{7}$$

**Proof :** It is sufficient to show that

$$\beta \left| \frac{e^{i\theta} z(D^m f(z)^\alpha)' + (2\lambda^2-\lambda)z^2(D^m f(z)^\alpha)''}{4(\lambda-\lambda^2)z^\alpha + (2\lambda^2-\lambda)z(D^m f(z)^\alpha)' + (2\lambda^2-3\lambda+1)D^m f(z)^\alpha} - 1 \right| - \text{Re} \left\{ \frac{e^{i\theta} z(D^m f(z)^\alpha)' + (2\lambda^2-\lambda)z^2(D^m f(z)^\alpha)''}{4(\lambda-\lambda^2)z^\alpha + (2\lambda^2-\lambda)z(D^m f(z)^\alpha)' + (2\lambda^2-3\lambda+1)D^m f(z)^\alpha} - 1 \right\} \leq 1-\gamma.$$

Also, we can write that

$$\begin{aligned} & \beta \left| \frac{e^{i\theta} z(D^m f(z)^\alpha)' + (2\lambda^2-\lambda)z^2(D^m f(z)^\alpha)''}{4(\lambda-\lambda^2)z^\alpha + (2\lambda^2-\lambda)z(D^m f(z)^\alpha)' + (2\lambda^2-3\lambda+1)D^m f(z)^\alpha} - 1 \right| \\ & - \text{Re} \left\{ \frac{e^{i\theta} z(D^m f(z)^\alpha)' + (2\lambda^2-\lambda)z^2(D^m f(z)^\alpha)''}{4(\lambda-\lambda^2)z^\alpha + (2\lambda^2-\lambda)z(D^m f(z)^\alpha)' + (2\lambda^2-3\lambda+1)D^m f(z)^\alpha} - 1 \right\} \\ & \leq (1+\beta) \left| \frac{e^{i\theta} z(D^m f(z)^\alpha)' + (2\lambda^2-\lambda)z^2(D^m f(z)^\alpha)''}{4(\lambda-\lambda^2)z^\alpha + (2\lambda^2-\lambda)z(D^m f(z)^\alpha)' + (2\lambda^2-3\lambda+1)D^m f(z)^\alpha} - 1 \right| \\ & \leq (1+\beta) \left\{ \frac{[\alpha^{m+1}[e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)] - [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m]]}{[4(\lambda-\lambda^2) - (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - \sum_{k=j+1}^\infty (\alpha+k-1)^m F_k |a_k(\alpha)|} \right\} \end{aligned}$$

where

$$M_k = (\alpha+k-1) [e^{i\theta} + (2\lambda^2-\lambda)(\alpha+k-2)] \quad \text{and} \quad F_k = (2\lambda^2-\lambda)(\alpha+k-1) + (2\lambda^2-3\lambda+1).$$

Now, this last expression is bounded above by  $1-\gamma$  if

$$\begin{aligned} & \sum_{k=j+1}^\infty (\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k] |a_k(\alpha)| \\ & \leq (2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)] \end{aligned}$$

and this ends the proofs.

**Corollary 2.2:** The function  $f(z)^\alpha$  of the form (2) is said to be in the class  $S(\lambda, \gamma, \beta, \alpha, 0, m, j)$ , if and only if

$$\begin{aligned} & \sum_{k=j+1}^\infty (\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k] |a_k(\alpha)| \\ & \leq (2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [1 + (\alpha-1)(2\lambda^2-\lambda)] \end{aligned}$$

where  $M_k = (\alpha + k - 1) [1 + (2\lambda^2 - \lambda)(\alpha + k - 2)]$  and  $F_k$  is as defined earlier.

**Corollary 2.3:** The function  $f(z)^\alpha$  of the form (2) is said to be in the class  $S(\lambda, \gamma, \beta, 1, 0, m, j)$ , if and only if

$$\sum_{k=j+1}^{\infty} k^m [(1 + \beta)M_k - (\beta + \gamma)F_k] |\alpha_k(1)| \leq 1 - \gamma$$

where  $M_k = k [1 + (2\lambda^2 - \lambda)(k - 1)]$  and  $F_k = (2\lambda^2 - \lambda)k + (2\lambda^2 - 3\lambda + 1)$ .

**Corollary 2.4:** The function  $f(z)^\alpha$  of the form (2) is said to be in the class  $S(\lambda, \gamma, \beta, 1, 0, 0, j)$ , if and only if

$$\sum_{k=j+1}^{\infty} [(1 + \beta)M_k - (\beta + \gamma)F_k] |\alpha_k(1)| \leq 1 - \gamma$$

where  $M_k = k [1 + (2\lambda^2 - \lambda)(k - 1)]$  and  $F_k = (2\lambda^2 - \lambda)k + (2\lambda^2 - 3\lambda + 1)$ . Incidentally, this result coincides with that of ([9]).

**Corollary 2.5:** The function  $f(z)^\alpha$  of the form (2) is said to be in the class  $S(\lambda, \gamma, \beta, 1, 0, 1, j)$  if and only if

$$\sum_{k=j+1}^{\infty} k [(1 + \beta)M_k - (\beta + \gamma)F_k] |\alpha_k(\alpha)| \leq 1 - \lambda$$

where  $M_k = k [1 + (2\lambda^2 - \lambda)(k - 1)]$  and  $F_k = k(2\lambda^2 - \lambda) + (2\lambda^2 - 3\lambda + 1)$ .

**Theorem 2.6:** The necessary and sufficient condition for function  $f(z)^\alpha$  of the form (5) to be in the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$  is that

$$\begin{aligned} & \sum_{k=j+1}^{\infty} (a + k - 1)^m [(1 + \beta)M_k - (\beta - \gamma)F_k] |a_k(\alpha)| \\ & \leq (2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)] \end{aligned} \quad (8)$$

**Proof.** In view of theorem 2.1, we only need to show the necessity. That is, if  $f(z)^\alpha \in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$  and  $z$  is real, then

$$\begin{aligned} & \frac{\alpha^{m+1}[e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)] - \sum_{k=j+1}^{\infty} (\alpha + k - 1)^m M_k a_k(\alpha) z^{k-1}}{[4(\lambda - \lambda^2) - (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - \sum_{k=j+1}^{\infty} (\alpha + k - 1)^m F_k a_k(\alpha) z^{k-1}}^{-\gamma} \\ & \leq \beta \frac{\left\{ \begin{aligned} & [\alpha^{m+1}[e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)] - [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] \\ & + \sum_{k=j+1}^{\infty} (\alpha + k - 1)^m [M_k - F_k] a_k(\alpha) z^{k-1} \end{aligned} \right\}}{[4(\lambda - \lambda^2) - (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - \sum_{k=j+1}^{\infty} (\alpha + k - 1)^m F_k a_k(\alpha) z^{k-1}}. \end{aligned}$$

Letting  $z \rightarrow 1$  along the real axis, then the inequality in (8) follows. In conclusion, the function  $f(z)^\alpha$  given below is the extremal function.

$$\begin{aligned} & f(z)^\alpha = z^\alpha \\ & \frac{(2 + \beta - \gamma) [4(\lambda - \lambda^2) - (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (1 + \beta)\alpha^{m+1}[e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)]}{(\alpha + j)^m [(1 + \beta)M_{j+1} - (\beta + \gamma)F_{j+1}]} z^{\alpha+j} \end{aligned} \quad (9)$$

where

$$M_k = (\alpha + j) [e^{i\theta} + (2\lambda^2 - \lambda)(\alpha + j - 1)] \quad \text{and} \quad F_k = (2\lambda^2 - \lambda)(\alpha + j) + (2\lambda^2 - 3\lambda + 1)$$

**Corollary 2.7:** Let the function  $f(z)^\alpha$  of the form (5) be in the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ , then

$$a_k \leq \frac{(2+\beta-\gamma)[4(\lambda-\lambda^2)-(2\lambda^2-\lambda)\alpha^{m+1}+(2\lambda^2-3\lambda+1)\alpha^m]-(1+\beta)\alpha^{m+1}[e^{i\theta}+(\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+j)^m[(1+\beta)M_{j+1}-(\beta+\gamma)F_{j+1]}} \tag{10}$$

This equality in (10) is attained for the function  $f(z)^\alpha$  of the form (9).

### 3. GROWTH AND DISTORTION THEOREM

**Theorem 3.1:** Let the function  $f(z)^\alpha$  of the form (5) be in the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . Then, for  $|z| < r = 1$ ,

$$\begin{aligned} & r^\alpha - \frac{(2+\beta-\gamma)[4(\lambda-\lambda^2)+(2\lambda^2-\lambda)\alpha^{m+1}+(2\lambda^2-3\lambda+1)\alpha^m]-(1+\beta)\alpha^{m+1}[e^{i\theta}+(\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+j)^m[(1+\beta)M_{j+1}-(\beta+\gamma)F_{j+1]}} r^{a+j} \\ & \leq |f(z)^\alpha| \\ & \leq r^\alpha + \frac{(2+\beta-\gamma)[4(\lambda-\lambda^2)+(2\lambda^2-\lambda)\alpha^{m+1}+(2\lambda^2-3\lambda+1)\alpha^m]-(1+\beta)\alpha^{m+1}[e^{i\theta}+(\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+j)^m[(1+\beta)M_{j+1}-(\beta+\gamma)F_{j+1]}} r^{a+j} \end{aligned} \tag{11}$$

The result (11) is attained for the function  $f(z)^\alpha$  given by (9) for  $z = \pm r$ .

**Theorem 3.2:** Let the function  $f(z)^\alpha$  of the form (5) be in the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . Then, for  $|z| < r = 1$ ,

$$\begin{aligned} & \alpha\gamma^{\alpha-1}-\gamma^{a+j-1} \left\{ \frac{(\alpha+j)(2+\beta-\gamma)[4(\lambda-\lambda^2)+(2\lambda^2-\lambda)\alpha^{m+1}+(2\lambda^2-3\lambda+1)\alpha^m]-(1+\beta)\alpha^{m+1}[e^{i\theta}+(\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+j)^m[(1+\beta)M_{j+1}-(\beta+\gamma)F_{j+1]}} \right\} \\ & \leq |f'(z)^\alpha| \\ & \leq \alpha r^{\alpha-1} + \alpha\lambda^{\alpha+j-1} \left\{ \frac{(\alpha+j)(2+\beta-\gamma)[4(\lambda-\lambda^2)+(2\lambda^2-\lambda)\alpha^{m+1}+(2\lambda^2-3\lambda+1)\alpha^m]-(1+\beta)\alpha^{m+1}[e^{i\theta}+(\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+j)^m[(1+\beta)M_{j+1}-(\beta+\gamma)F_{j+1]}} \right\} z^{\alpha+k-1}. \end{aligned} \tag{12}$$

**Theorem 3.3:** Let

$$f_j(z)^\alpha = z^\alpha \tag{13}$$

and

$$f(z)^\alpha = z^\alpha - \frac{(2+\beta-\gamma)[4(\lambda-\lambda^2)+(2\lambda^2-\lambda)\alpha^{m+1}+(2\lambda^2-3\lambda+1)\alpha^m]-(1+\beta)\alpha^{m+1}[e^{i\theta}+(\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+k-1)^m[(1+\beta)M_k-(\beta+\gamma)F_k]} z^{\alpha+k-1} \tag{14}$$

for  $k \geq j + 1, 0 \leq \lambda \leq 1, \beta \geq 0, -1 \leq \gamma < 1, m \in N_0, \alpha > 0$  and  $0 \leq |\theta| < \pi/2$ . Then  $f(z)^\alpha$  in the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$  if and only if it can be expressed in the form

$$f(z)^\alpha = \sum_{k=j}^{\infty} \delta_k f_k(z)^\alpha \tag{15}$$

where  $\delta_k \geq 0 (k \geq j)$  and  $\sum_{k=j}^{\infty} \gamma_k = 1$ .

**Proof:** Suppose that  $f(z)^\alpha = \sum_{k=j}^{\infty} \delta_k f_k(z)^\alpha = \delta_j f_j(z)^\alpha + \sum_{k=j+1}^{\infty} \delta_k f_k(z)^\alpha$ .

Then

$$f(z)^\alpha = \delta_j f_j(z)^\alpha + \sum_{k=j+1}^{\infty} \delta_k \left[ z^\alpha - \frac{(2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]} \right] z^{\alpha+k-1}$$

$$= \delta_j f_j(z)^\alpha + \sum_{k=j+1}^{\infty} \delta_k z^\alpha - \sum_{k=j+1}^{\infty} \delta_k \left[ \frac{(2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]} \right] z^{\alpha+k-1}.$$

Since  $f_j(z)^\alpha = z^\alpha \Rightarrow \delta_j f_j(z)^\alpha + \sum_{k=j+1}^{\infty} \delta_k z^\alpha = \delta_j z^\alpha + \sum_{k=j+1}^{\infty} \delta_k z^\alpha = \left( \delta_j + \sum_{k=j+1}^{\infty} \delta_k \right) z^\alpha = \sum_{k=j}^{\infty} \delta_k z^\alpha = z^\alpha$ ,  $\left( \sum_{k=j}^{\infty} \delta_k = 1 \right)$ .

So,

$$f(z)^\alpha = z^\alpha - \sum_{k=j+1}^{\infty} \delta_k \left\{ \frac{(2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]} \right\} z^{\alpha+k-1}.$$

Since

$$\sum_{k=j+1}^{\infty} \delta_k \left\{ \frac{(2+\beta-\gamma) \left[ \begin{array}{l} 4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} \\ + (2\lambda^2-3\lambda+1)\alpha^m \end{array} \right] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]} \right\} \times \left\{ \frac{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]}{(2+\beta-\gamma) \left[ \begin{array}{l} 4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} \\ + (2\lambda^2-3\lambda+1)\alpha^m \end{array} \right] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]} \right\}$$

$$= \sum_{k=j+1}^{\infty} \delta_k = \sum_{k=j}^{\infty} \delta_k - \delta_j = 1 - \delta_j \leq 1, \quad \left( \sum_{k=j}^{\infty} \delta_k = 1 \right).$$

It follows from theorem 2.6 that the function  $f(z)^\alpha$  of the form (5) belongs to the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . Conversely, let the function  $f(z)^\alpha$  of the form (5) belongs to the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . Then,

$$a_k(\alpha) \leq \frac{(2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]}{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]}$$

for  $k \geq j+1$ .

Now, setting

$$\delta_k = \frac{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]}{(2+\beta-\gamma) [4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1} [e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]} a_k(\alpha)$$

and

$$\delta_j = 1 - \sum_{k=j+1}^{\infty} \delta_k,$$

we have that

$$f(z)^\alpha = z^\alpha - \sum_{k=j+1}^{\infty} a_k(\alpha) z^{\alpha+k-1}.$$

Implies that

$$f(z)^\alpha = z^\alpha - \sum_{k=j+1}^\infty \delta_k \left\{ \frac{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)]}{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]} \right\} z^{\alpha+k-1}$$

From (15), we have that

$$f(z)^\alpha = z^\alpha + \sum_{k=j+1}^\infty [f_k(z)^\alpha - z^\alpha] \delta_k = z^\alpha - \sum_{k=j+1}^\infty \delta_k z^\alpha + \sum_{k=j+1}^\infty f_k(z)^\alpha \delta_k = \left( 1 - \sum_{k=j+1}^\infty \delta_k \right) z^\alpha + \sum_{k=j+1}^\infty f_k(z)^\alpha \delta_k$$

$$f(z)^\alpha = \delta_j z^\alpha + \sum_{k=j+1}^\infty f_k(z)^\alpha \delta_k = \delta_j f_j z^\alpha + \sum_{k=j+1}^\infty \delta_k f_k z^\alpha = \sum_{k=j}^\infty \delta_k f_k(z)^\alpha$$

hence the proof.

**Corollary 3.4:** The extreme points of the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$  are functions given by (13) and (14).

4. RADII OF CLOSE-TO-CONVEXITY, STARLIKENESS AND CONVEXITY

**Theorem 4.1:** Let  $f(z)^\alpha \in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ , the  $f(z)^\alpha$  is close-to-convex of order  $\psi$  ( $0 \leq \psi < 1$ ) in the disk  $|z| < r_1$  where

$$r_1 = \inf \left\{ \frac{(\alpha - \psi)(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)]} \right\}^{\frac{1}{k-1}} \quad k \geq j+1. \tag{16}$$

The result is sharp with extremal function  $f(z)^\alpha$  given by (9).

**Proof:** It is sufficient to show that

$$\left| \frac{f(z)^\alpha}{z^{\alpha-1}} - \alpha \right| < \alpha - \psi, \quad |z| < r_1. \tag{17}$$

It implies that,

$$\left| \frac{f'(z)^\alpha}{z^{\alpha-1}} - \alpha \right| = \left| \sum_{k=j+1}^\infty (\alpha + k - 1) a_k(\alpha) z^{k-1} \right| < \alpha - \psi.$$

That is

$$\frac{\sum_{k=j+1}^\infty (\alpha + k - 1) a_k(\alpha) z^{k-1}}{\alpha - \psi} \leq 1. \tag{18}$$

Now, (18) is proven true if

$$\frac{(\alpha+k-1)|a_k(\alpha)||z|^{k-1}}{\alpha-\psi} \leq \frac{(\alpha+k-1)^m [(1+\beta)M_k - (\beta+\gamma)F_k]}{(2+\beta-\gamma)[4(\lambda-\lambda^2) + (2\lambda^2-\lambda)\alpha^{m+1} + (2\lambda^2-3\lambda+1)\alpha^m] - (1+\beta)\alpha^{m+1}[e^{i\theta} + (\alpha-1)(2\lambda^2-\lambda)]}.$$

Solving for  $|z|^{k-1}$ , we have (16).

**Theorem 4.2:** Let  $f(z)^\alpha \in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ , then  $f(z)^\alpha$  is starlike of order

$\psi$  ( $0 \leq \psi < 1$ ) in the disk  $|z| < r_2$  where,

$$r_2 = \inf \left\{ \frac{(\alpha - \psi)(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(\alpha + k - \psi - 1)(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m]} \right\}^{\frac{1}{k-1}} \quad (k \geq j+1). \quad (19)$$

The result is sharp for the extremal function  $f(z)^\alpha$  given by (9).

**Proof:** It is sufficient to show that

$$\left| \frac{f'(z)^\alpha}{z^{\alpha-1}} - \alpha \right| \leq \alpha - \psi \Rightarrow \left| \frac{\sum_{k=j+1}^{\infty} (k-1)a_k(\alpha)z^{k-1}}{1 - \sum_{k=j+1}^{\infty} a_k(\alpha)z^{\alpha+k+1}} \right| < \alpha - \psi.$$

That is

$$\frac{\sum_{k=j+1}^{\infty} (\alpha + k - \psi - 1) |a_k(\alpha)| |z|^{k-1}}{\alpha - \psi} \leq 1. \quad (20)$$

Now, (20) is proven true if

$$\frac{(\alpha + k - \psi - 1) |a_k(\alpha)| |z|^{k-1}}{\alpha - \psi} \leq \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)]}.$$

Solving for  $|z|^{k-1}$ , we obtain (19).

**Theorem 4.3:** Let  $f(z)^\alpha \in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ , then  $f(z)^\alpha$  is starlike of order  $\psi$  ( $0 \leq \psi < 1$ ) in the disk  $|z| < r_3$  where,

$$r_3 = \inf \left\{ \frac{\alpha(\alpha - \psi)(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(\alpha + k - 1)(\alpha + k - \psi - 1)(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m]} \right\}^{\frac{1}{k-1}}$$

The result is sharp for the extremal function  $f(z)^\alpha$  of the form (9).

**Proof:** It suffices to show that

$$\left| 1 + \frac{zf''(z)^\alpha}{f'(z)^\alpha} - \alpha \right| < \alpha - \psi.$$

It implies that

$$\left| \frac{\sum_{k=j+1}^{\infty} \left(\frac{\alpha+k-1}{\alpha}\right) (k-1)a_k(\alpha)z^{k-1}}{1 - \sum_{k=j+1}^{\infty} \left(\frac{\alpha+k-1}{\alpha}\right) a_k(\alpha)z^{k-1}} \right| < \alpha - \psi.$$

That is

$$\frac{\sum_{k=j+1}^{\infty} (\alpha + k - 1)(\alpha + k - \psi - 1) |a_k(\alpha)| |z|^{k-1}}{\alpha(\alpha - \psi)} \leq 1. \quad (21)$$

So (21) is proven from if

$$\frac{(\alpha + k - 1)(\alpha + k - \psi - 1) |a_k(\alpha)| |z|^{k-1}}{\alpha(\alpha - \psi)} \leq \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)]}.$$

Solving for  $|z|^{k-1}$ , we obtained the desired result.



5. MODIFIED HADAMARD PRODUCT

Let the function  $f_i(z)^\alpha$  ( $i = 1, 2$ ) be given

$$f_i(z)^\alpha = z^\alpha - \sum_{k=j+1}^{\infty} a_{k,i}(\alpha)z^{a+k+1}, \quad a_{k,i} \geq 0; j \in N \tag{22}$$

then we define the modified Hadamard product of  $f_1(z)^\alpha$  and  $f_2(z)^\alpha$  by

$$f_1(z)^\alpha * f_2(z)^\alpha = z^\alpha - \sum_{k=j+1}^{\infty} a_{k,1}(\alpha) a_{k,2}(\alpha)z^{a+k+1}.$$

**Theorem 5.1:** Let each of the  $f_i(z)^\alpha$  ( $i = 1, 2$ ) defined above be in the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . Then

$$\begin{aligned} & \sigma_1 \\ & (\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]^2 \left\{ \begin{aligned} & (2 + \beta) (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) \\ & - (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)] \end{aligned} \right\} \\ & - [(1 + \beta)M_k - (\beta + \gamma)F_k] \left\{ \begin{aligned} & (2 + \beta - \gamma) (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) \\ & - (1 + \beta)\alpha^{m+1} (e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)) \end{aligned} \right\} \\ = & \frac{\hspace{10em}}{(\alpha + k - 1)^m (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) [(1 + \beta)M_k - (\beta + \gamma)F_k]^2 \\ & - (2 + \beta - \gamma) (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) - (1 + \beta)\alpha^{m+1} (e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda))^2 F_k} \end{aligned}$$

The result is sharp.

**Proof:** We need to show the largest  $\sigma_1$  such that

$$\sum_{k=j+1}^{\infty} \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \sigma_1)F_k]}{(2 + \beta - \sigma_1) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} a_{k,1} a_{k,2} \leq 1$$

where  $G = (1 + \beta)\alpha^{m+1} [e^{i\theta} + (\alpha - 1)(2\lambda^2 - \lambda)]$  and both  $M_k$  and  $F_k$  are as earlier defined.

From theorem 2.1, one can write that

$$\sum_{k=j+1}^{\infty} \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} a_{k,1} \leq 1$$

and

$$\sum_{k=j+1}^{\infty} \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} a_{k,2} \leq 1$$

where  $G$  is as defined above.

By the Cauchy-Schwarz inequality, we have

$$\sum_{k=j+1}^{\infty} \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{-(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} \sqrt{a_{k,1} a_{k,2}} \leq 1.$$

Thus, it is sufficient to show that

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \sigma_1)F_k]}{(2 + \beta - \sigma_1) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} a_{k,1} a_{k,2} \\ \leq & \sum_{k=j+1}^{\infty} \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} \sqrt{a_{k,1} a_{k,2}}. \end{aligned}$$

That is

$$\sqrt{a_{k,1} a_{k,2}} \leq \frac{[(1 + \beta)M_k - (\beta + \gamma)F_k] \{ (2 + \beta - \sigma_1) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G \}}{[(1 + \beta)M_k - (\beta + \sigma_1)F_k] \{ (2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G \}}.$$

Observe that

$$\sqrt{a_{k,1} a_{k,2}} \leq \frac{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G}{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}.$$

It implies that

$$\begin{aligned} & \frac{(2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G}{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]} \\ & \leq \frac{[(1 + \beta)M_k - (\beta + \gamma)F_k] \{ (2 + \beta - \sigma_1) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G \}}{[(1 + \beta)M_k - (\beta + \sigma_1)F_k] \{ (2 + \beta - \gamma) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G \}}. \end{aligned}$$

Or

$$\sigma_1$$

$$\begin{aligned} & \leq \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \sigma_i)F_k]^2 \left\{ (2 + \beta) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G \right. \\ & \quad \left. - \left[ (2 + \beta - \gamma) \left[ \begin{array}{l} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right] - G \right]^2 H \right\}}{\left[ (\alpha + k - 1)^m \left( \begin{array}{l} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right) [(1 + \beta)M_k - (\beta + \sigma_i)F_k]^2 \right] - IF_k} \\ & = \Delta_1(k) \end{aligned}$$

$$\text{where } H = [(1 + \beta)M_k - (\beta + \sigma_i)F_k] \text{ and } I = \left[ \begin{array}{l} (2 + \beta - \gamma) \left[ \begin{array}{l} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right] \\ - G \end{array} \right]^2.$$

Since  $\Delta_1(k)$  is an increasing function of  $k$  ( $k \geq j + 1$ ) and  $j \in N$ , letting  $k = j + 1$  in the inequality above, then

$$\sigma_1 \leq \Delta(j + 1) = \frac{Q - W}{J - P}$$

$$\text{where } J = (\alpha + j)^m (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) \left[ \begin{array}{l} (1 + \beta)M_{j+1} \\ - (\beta - \gamma)F_{j+1} \end{array} \right]^2,$$

$$Q = \left[ \begin{array}{l} (\alpha + j)^m \\ \left[ \begin{array}{l} (1 + \beta)M_{j+1} \\ - (\beta - \gamma)F_{j+1} \end{array} \right]^2 \end{array} \right] \left[ \left( (2 + \beta) \left( \begin{array}{l} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right) - G \right) \right],$$

$$W = \left[ (2 + \beta - \gamma) \left( \begin{array}{l} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right) - G \right]^2 [M_{j+1} - (\beta - \gamma)F_{j+1}],$$

and

$$P = \left[ \begin{array}{l} (2 + \beta - \gamma) (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) \\ - G \end{array} \right]^2 F_{j+1}$$

which is the required assertion. The result is sharp for the functions defined by (9).

**Theorem 5.2:** Let each of the  $f_i(z)^\alpha$  ( $i = 1, 2$ ) defined in (22) be in the class

$TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ . If the sequence  $\{(1 + \beta)M_k - (\beta + \gamma)F_k\}$  is non-decreasing. Then the function

$$h(z)^\alpha = z^\alpha - \sum_{k=j+1}^{\infty} (a_{k,1}^2 + a_{k,2}^2)z^{\alpha+k-1}$$

belongs to the class  $TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$ .

**Proof:** From theorem 2, we have for  $f_j(z)^\alpha$  ( $j = 1, 2$ )  $\in TS(\lambda, \gamma, \beta, \alpha, \theta, m, j)$  that

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \left\{ \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma)(4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) - G} \right\}^2 a_{k,1}^2 \\ & \leq \sum_{k=j+1}^{\infty} \left\{ \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma)(4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) - G} a_{k,1}^2 \right\}^2 \leq 1 \end{aligned} \tag{23}$$

and

$$\begin{aligned} & \sum_{k=j+1}^{\infty} \left\{ \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma)(4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) - G} \right\}^2 a_{k,2}^2 \\ & \leq \sum_{k=j+1}^{\infty} \left\{ \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma)(4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) - G} a_{k,2} \right\}^2 \leq 1. \end{aligned} \tag{24}$$

It follows from (23) and (24) that

$$\sum_{k=j+1}^{\infty} \frac{1}{2} \left\{ \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \gamma)F_k]}{(2 + \beta - \gamma)(4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) - G} \right\}^2 (a_{k,1}^2 + a_{k,2}^2) \leq 1.$$

Therefore, we need to find the largest  $\sigma_2$ , such that

$$\begin{aligned} & \frac{(\alpha + k - 1)[(1 + \beta)M_k - (\alpha + \gamma)F_k]}{(2 + \beta - \sigma_2)[4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G} \\ & \leq \frac{1}{2} \left\{ \frac{(\alpha + k - 1)[(1 + \beta)M_k - (\alpha + \gamma)F_k]}{(2 + \beta - \gamma)[4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - (G)} \right\}^2. \end{aligned}$$

That is

$$\sigma_2$$

$$\begin{aligned} & \leq \frac{(\alpha + k - 1)^m [(1 + \beta)M_k - (\beta + \sigma_i)F_k]^2 \left\{ \begin{aligned} & (2 + \beta) [4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m] - G \\ & -2 \left[ (2 + \beta - \gamma) \left[ \begin{aligned} & 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ & + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{aligned} \right] - G \right]^2 H \end{aligned} \right\}}{\left[ (\alpha + k - 1)^m \left( \begin{aligned} & 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ & + (2\lambda^2 - 3\lambda + 1)\alpha^m \end{aligned} \right) [(1 + \beta)M_k - (\beta + \sigma_i)F_k]^2 \right] - 2IF_k} \\ & = \Delta_2(k) \end{aligned}$$

where  $H = [(1 + \beta)M_k - (\beta + \sigma_i)F_k]$  and  $I = \left[ \begin{array}{c} (2 + \beta - \gamma) \left[ \begin{array}{c} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ +(2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right] \\ -G \end{array} \right]^2$ .

Since  $\Delta_2(k)$  is an increasing function  $k$  ( $k \geq j + 1$ ) and  $j \in N$ , we can have that

$$\sigma_1 \leq \Delta(j + 1) = \frac{Q - 2W}{J - 2P}$$

where  $J = (\alpha + j)^m (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) \left[ \begin{array}{c} (1 + \beta)M_{j+1} \\ -(\beta - \gamma)F_{j+1} \end{array} \right]^2$ ,

$$Q = \left[ \begin{array}{c} (\alpha + j)^m \\ \left[ \begin{array}{c} (1 + \beta)M_{j+1} \\ -(\beta - \gamma)F_{j+1} \end{array} \right]^2 \end{array} \right] \left[ \left( (2 + \beta) \left( \begin{array}{c} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ +(2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right) - G \right) \right],$$

$$W = \left[ (2 + \beta - \gamma) \left( \begin{array}{c} 4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} \\ +(2\lambda^2 - 3\lambda + 1)\alpha^m \end{array} \right) - G \right]^2 [M_{j+1} - (\beta - \gamma)F_{j+1}],$$

and

$$P = \left[ \begin{array}{c} (2 + \beta - \gamma) (4(\lambda - \lambda^2) + (2\lambda^2 - \lambda)\alpha^{m+1} + (2\lambda^2 - 3\lambda + 1)\alpha^m) \\ -G \end{array} \right]^2 F_{j+1}$$

which ends the proof of theorem 5.2.

#### REFERENCES

- [1] H. S. Al-Amiri, On a subclass of close-to-convex functions with negative coefficient, *Mathematics*, Tome 31(1), 54, 1-7, 1989.
- [2] R. Bharati, R. Parvatham and A. Swammathan, On subclasses of Uniformly convex functions and corresponding class of starlike function, *Tamkang J. Math.*, 28(1), 17-32, 1997.
- [3] R. M. El-Ashwah, Subordination results for certain subclass of analytic Functions defined by Salagean derivative operator, *Acta universitatis Apulenses no.37*, 197-204, 2014.
- [4] M. Darus and R. W. Ibrahim, On subclasses for generalized operators of complex order, *Far East J. Math. Sci.* 33.3, 299-308, 2009.
- [5] B. A. Frasin, Some application of fractional calculus operators, to certain subclass of analytic functions with negative coefficient, *Acta universitatis Apulensis vol.23*, 123-132, 2010.
- [6] B. A. Frasin, On the analytic functions with negative coefficient *Soochow J. Math.*, 31(3), 349-359, 2005.
- [7] R. W. Ibrahim, Fractional complex transforms for fractional differential equations, *Advances in Difference Equations* 2012.1, 2012: 192.
- [8] R. W. Ibrahim and M. Darus, On subordination theorems for new classes of normalize analytic functions, *Appl. Math. Sci.* 2.56, 2785-2794, 2008.
- [9] N. Magesh and V. Prameela, Certain subclasses of uniformly convex functions and Corresponding class of starlike functions, *Malaya Journal of Matematik* 2(1), 18-26, 2013.
- [10] G. Murugusundaramoorthy and N. Magesh, On certain subclasses of analytic functions associated with hypergeometric functions, *Applied Mathematics Letters*, 24, 494-500, 2011.
- [11] F. Ronning, Uniformly convex functions and a corresponding class of starlike functions, *proc. Amer. Math. Soc.* 118, 189-196, 1993.
- [12] G. S. Salagean, Subclasses of univalent functions, *Lecture Notes in math.* (Springer-Verlag), 362-372, 1983.
- [13] S. N. Sarangi and B. A. Uraleghaddi, The radius of convexity and starlikeness of certain classes of analytic functions with negative coefficient, I, *Atti, Accad. Naz. Lincei rend. Cl. Sci. Fis. Mat. Nature*, 65(8), 34-42, 1978.
- [14] H. Silverman, Univalent functions with negative coefficient, *proc. Amer. Math.Soc.*, 51, 109-116, 1975.

- [15] H. M. Srivastava, M. Darus and R. W. Ibrahim, Classes of analytic functions with fractional powers defined by means of a certain linear operator, *Integral Transforms and Special Functions*, 22.1, 17-28, 2011.
- [16] M. Srivastava, S. Owa and S. K. Chatterjea, A note on certain classes of starlike functions, *Rend. Sem. Mat. Univ. Padova*, 77, 115-124, 1987.
- [17] B. A. Stephen and K. G. Subramanian, On subclass of Noshiro-type analytic function with negative coefficient, conference proc. Ramanujan Mathematical society 1998.
- [18] K. G. Subramanian, G. Murugusundaramoorthy, P. Balasubrahmanyam, and H. Silverman, Subclasses of uniformly convex and uniformly starlike functions?, *Math. Japonica*, 42(3), 517-522, 1995.
- [19] Subramanian, K. G., Sudharsan, T. V., Balasubrahmanyam, P. and Silverman, H., ?Class of uniformly starlike functions?, *Publ. Math. Debercen.*, 53(4), 309-315, 1998.

HAMZAT J. OLUSEGUN

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF LAGOS, AKOKA, LAGOS STATE, NIGERIA.

*E-mail address:* [jhamzat@unilag.edu.ng](mailto:jhamzat@unilag.edu.ng), [emmanther2012@gmail.com](mailto:emmanther2012@gmail.com)